0.
LH0

N0



o)

0.
o

ol
KO

==

uJ

==

KO

= HAlGtL, 20| E

(@) ==
T 9| A=Al

S
=

4. BluAE L, JI¢HA

0
B0
il



— a particular or unique group that shares some common
experience or characteristic relevant to health

m  Framingham heart study, Nurses' health study, Seoul male cohort study

s J|E2 &
define a candidate study population
v

define a cohort at risk of outcome(disease)
v

classify cohort into subgroups according to exposure
v

follow—up all cohort members to assess the occurrence of that outcome
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1o J|=2J4E (3)

s
m DSE AR BEF
a. M&® DS E A (concurrent, prospective cohort study)
X2 &M JIHZEAL (baseline survey)Al 22010 0ist 3L £
X2 SMFE OIcHE eoll ARHAXE FEEZAIHA
b. 28X IS E AH (historical, retrospective cohort)
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-1

n NEE4-2EHT XHS LS HUIRIE S (Relative risk, RR),
& [ & & (Absolute risk, AR)
D D rate D P-Y  rate
E a b |al(ath) E a Ne a/N
E C d c/(c+d) E C No c/N

AR (Rate difference) =a/(at+b) - c/(c+d) = a/Ne—c/No
- a/Ne

Relative Risk = a/(at+b) =
c/(c+d) ¢/No




2E A HE - ASRAE T (1)

m Rate Difference (Attributable Risk, AR)
= 1,—1,
= I, (RR-1)

m AR =[(,-1,)/1,]x100
=1-1/l, =1-1/RR

= (RR-1)/RR
> SR QOI0 22 A LME S S0 0 2210
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DS EAAMAS &t = X H(2)

- Ol Al
CHD P-Y rate LC P-Y rate
Smok 30 30,000 Smok 10 30,000
Non-S 10 30,000 Non-S 1 30,000
Relative Risk = =

Rate Difference
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CHD P-Y rate

Smok 30 30,000 Smok

Non-S 10 30,000 Non-S

Relative Risk = (30/30000) / (10/30000)
= 3

Rate Difference = 30/30000 - 10/30000
=20

LC P-Y rate

10 | 30,000

1 30,000
= (9/30000) / (1/30000)
=9

=10/30000 — 1/30000
=9



BN H - AHASRASE LT (2)
m Population Attributable Risk (PAR)

=l =1 = [Pele + (1'Pe)|o] -1, =P, (Ie'lo)
= AR XP,

m PARY% = (IT_ Io)/ IT = [ I:)e (Ie'lo) ] / [ I:)ele + (l'Pe)Io]
=P, (RR-1) / [P, (RR-1) + 1]
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DS EU StA-U = 3+

m Nested Case-control Study
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